
Le passage de la dizaine : l’ addition 

     

     

     

     

6 + 6 = (6 + …… ) + …… = ……   
10 

1. Je place mes jetons dans la première boîte. 

2. Je complète la première boîte. 

3. Je calcule. 

 

 
7 + 4 =  

2 + 9 = 

5 + 8 =  

4 + 9 =  

8 + 6 =  

7 + 7 =  

8 + 7 = 

3 + 9 =  

5 + 9 =  

4 + 8 =  

7 + 9 =  

8 + 8 = 

3 + 8 =  

5 + 7 =  

6 + 5 =  

9 + 6 =  

6 + 6 = 

7 + 6 =  

8 + 9 =  

4 + 7 =  

9 + 9 =  

…

28 + 3 = 20 + (8 + 3) = ……  

45 + 7 = 40 + (5 + 7) = ……  

36 + 6 = 30 + (……  + …… ) = ……  

59 + 2 = 50 + (……  + …… ) = ……  

98 + 4 = ……  + (……  + …… ) = ……  

77 + 7 = ……  + (……  + …… ) = ……  

64 + 7 = ……  + (……  + …… ) = ……  

84 + 9 = ……  + (……  + …… ) = ……  

 


